Grand Final 2%
<A> E
IO} 7] QY pYy o

p.22 1781 =X

24 y=1"— 4292

2d y=2"—5z99

/ OAB=90° 0|22 OB= 29 XI=Z0|Ct.
OB  tV1+¢
[M2Al 22 BHXIZ 20l 02 = 5 oIc.

02422 5, (t)s BrEel WolN MM OB% y=a? Aol2)
==

012 e

p. 60 2981 gl 3
ol m, / alz—a)lz—B)dz = %( —a)’s o1g2sH
2\ 2 6 8 6
S'(t)Z%(Qt-i-éltg)ﬂ— 2
ward f(— 1)=(a+2)(a—1)=0
_ e J:( Df1) = (a+2)la=1) metd f(=1)f(1) = (a+2)(a—2)= 0 01010 Bt
p.82 2149 oll& 0|10k StCH. .
A C a<—2 Y= a>=2
T o a§—2 _CE: a > 2
<B> ¥
HO|T] ny ™ ny o
P - 1 _ I 9
0.80 BHCH (=) AFX BF> 1 (;:) AFX BF> 4p
T L D D
T 2p 2p AFX BF=ab= x
= — >< _
p.107 Bet AFX BF=ab =058 1+ ooso i cosé 21+cost9
- =K ec ,
E-% (=2)NE2% r ' 4 4 - 1ie
s — D — > = (xt - 2,9 - 2., — p(z)
- 2 o, = &) 1—cos“0 sin“ 0
1—cos’0  4sin’h 4




